Aluminum Tubular Pull

UEF szess=ns

-

MAN&MACHINE
ELEMENTS

L =08
=
O -
) .
L <
BRLYER e juar]
I D L2
L1
L3
o i, KELE 0 rors o TRIERSHREN S BEENFREOBNEL, EENH
UEF-AL/UEF-ES  UEF-BK &,
- Gk ks RERS & 2. Eil
PRRELALEE (4R) R (THE) AL RS AL (55) THE
=g 7 56 (3
i Eg;ﬁ:‘;ﬁf@; i;ﬁiﬁ;f) . ES ERECAE(R) R
FHIBRL6 FHIBRLE
#o 2 00 [ (T T
fE42 pytnligiyy TR BK BEER (IHE) T2
o SUM22L SUM22L . it o ¢ N .
YRLYER — e Epe———— o M H AN AN AER (SUSXMTH#). 1R IR
e s cusxur LIRS (AR,
(B HHIRS)
BAL: mm
= BHFER BLHIRS
ne A L1 D H h Lf L L3 L2 M (N) BRE(g9) R~
UEF-30-200 30 200 18 75 45 15 265 230 170 M8 500 200 M8x 16
UEF-30-250 30 250 18 75 45 15 315 280 220 M8 500 220 M8x 16
UEF-30-300 30 300 18 75 45 15 365 330 270 M8 500 240 M8x 16
UEF-30-350 30 350 18 75 45 15 415 380 320 M8 500 260 M8x 16
UEF-30-400 30 400 18 75 45 15 465 430 370 M8 500 280 M8X 16
UEF-30-500 30 500 18 75 45 15 565 530 470 M8 500 320 M8x 16
UEF-30-600 30 600 18 75 45 15 665 630 570 M8 500 360 M8x 16
*1: FRANNETEE.
o BISIETF
-
\ —
A
[
R HHNIRS (RS N, BERESRREmP,
7" TRikF - TR ELE = P.xxxx / BHZIED = P.xxxx
ENE P HODSE

N NBK

0512-5290-1560

info@nbk1560-chn.com.cn

https://www.nbk1560-chn.com.cn/



